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T—AEs 217 AES | 13-350-C05 BAXmE] 2

REfG B BEF| 2017/9/15 10:50 |E8 AR 147 WeRd BAKES Plus3

®EH 2017/9/14 BREBDOORP [ 281 LR EARAc L H 2017/5/8
B2 w22 < BB LAV, BUIZEET, FRAL L, MEA IS TEEER LT 5,

8.0 [pH]

——pH EhZz el D -1
75 SEEE 6.91
R 7= 0. 03
5 70 — IR E 6.97
. e/ ME 6. 87
> BT EEOBLIIE
6.0 EYE 6. 89
' P2 0.01
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300 — I/ ME 6. 87
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= N 101h & TOMED FH i

>
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1,650 i

%1 600 I —

5 - CCTDD)

Q EC (mS/m
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T—AE5 | 222 AES | 13-350-C05 BAXmE] 2
Rt A RE[ 2017/10/12 15:20 [EAIRERY 499 W BAKES Plus3
BEH 2017/10/11 RERDORP | 261 SRR 2017/5/8

-5
8.0 [pH]
——pH Eh'Zz e R D -1
7.5 SERAE 6. 85
R 7= 0.01

s 701 —— R E 6. 86

. BUNME | 683

> T 2= TR DA
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: R 7= 0. 06
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T—AE5 | 225 AES | 13-350-C05 BAXmE] 2
BEIG ARE|] 2017/12/1 11:25 |E3:EIRERY 479 H¢RE BARES Plus3
B®REHR 2017/11/29 BREROORP [ 240 LR EARAc L H 2017/5/8
{EZ  |Bkoi=w, 12/19(435h) ICHEER — K1k,
8.0 [pH]
——pH EhZz el D -1
7.5 SR E 6.95
12 UE {75 0. 00
5 70 == I KB 6.95
6 fre/ M 6. 94
S TR 2= TR D BLIE
6.0 EYE 6.94
) e
0 50 100 150 200 250 300 350 400 450 500 ?ﬁ;f}g% (7)' 2;1
400 — % /IME 6.90
——thim a8
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T—AES | 231 AEE | 13-350-C05 BARE] o]
Rt B EE] 2018/1/17 10:45 [#RAIEERS 287 IR¢fH] BARES Plus3
B®RER 2018/1/9 BEBDORP [ 236 LEE EE R 2017/5/8
e
8.0 [pH]
——pH EhZZ TERF D -1
7.5 SEHAfE 6.92
L B R = 0. 00
5 70 N} 6.93
5/ IME 6.92
6> BT =R O BLAE
6.0 Bﬁi’ﬂfﬁ% 6.93
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BIBRE: 40

T—AES | 238 AES | 13-350-C05 BAXmE] 2
REtE ARE] 2018/2/2 15:00 [&R:AIEERY 475 Wr BAKES Plus3
BEH 2018/1/30 RERDORP [ 228 HEEmRR A 2017/5/8

Bz [EIUV R | JE Bt 1k A feZ8, Eh & ECOZEEN D, #&T2~3HAT (415htH) B BIEBRME L LTV /REMD B
2o
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T—AE5 | 242 AES | 13-350-C05 BLAXE] 2
BEIG A RE| 2018/2/27 11:30 |&3:EIRERY 410 W5 BARES Plus3
B®REHR 2018/2/26 BRERDORP [ 283 LR EARAc L H 2018/2/26
= 3/9(242h) ~3/12(312h), (&3t D 7= DIE BRI 1L,
F 3/16(404h) , KIAME O - DGR, IGREIZ F ik,
8.0 [pH]
——pH EhZz el D -1
7.5 SR E 6.95
- 12 UE {75 0. 00
5 70 I KB 6.96
6 fre/ M 6. 95
S TR 2= TR DA
6.0 EYE 6.97
' FE(mE] 0.0
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T—AES5 | 250 AES | 13-350-C05 BAXmE] 2
Bsh B BE| 2018/4/3 14:50 | BIRERS 502 ¢ BARES Plus3
B®REH 2018/4/2 BEBDORP | 292 LR EARAcH H 2018/2/26

4/17 (331h) (ZHEERIE 1L % FERE,

H A & & Ehi, 4/18 (359h) (CIEERFIRA, PIXIGEERMBARIOME, Eh, pH

BB | okt EndeEis b b) L BC, DOIBE FBI O 15 % 4,
8.0 [pH]
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TR ES LES | 13-350-C05 £H X i 2
BHIRBRE[ 2018/6/7 14:10 500 ¢ BARES Plus3
B®REHR FDORP | LR EARAcH H 2018/2/26

= 6/12 (117h) 3L V6/18 (264h) (CIEBRIFILAFER, %E TIEH AKEEZIML, 6/19 (289h) |ZHEERFFEH,

H PIIPEERTFRARTOME, Eh, pH (&AFH)/EhZZERE ) , EC, DOILIRER FFBH M O 2 £,
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T—AE5 | 263 AES | 13-350-C05 BAXmE] 2
REtE A RE] 2018/8/23 10:15 [ER:AIRERY 437 W BAKES Plus3
B®REHR 2018/8/20 BRERDOORP [ 256 LR EARAc L H 2018/2/26
{5 |s/23 (9n) , 8/24 (33h) , 9/6 (329h) \HFEDHV, BEELT 5.
8.0 [pH]
——pH EhZz el D -1
7.5 SERAE 6.94
R 7= 0. 00
T 70 — TSN 6.95
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T—3Es | 267 LES | 13-350-C05 BLAXE] 2
RHIG BR[| 2018/11/6 15:25 |3 AIREME 499 4 BARES Plus3
B®REH 2018/11/5 BREBDORP | 236 LR EARAc L H 2018/2/26
B |7xgxomgclEzEgG Uzzn, BISEQ1501E £ TOMOEENR KX\,
8.0 [pH]
——pH EhZz el D -1
75 — SERAE 7.38
BEREEZ ] 0.00
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T—ABE 204 AES | 13-350-C05 BAXmE] 2
RHE ERE[ 2019/1/15 11:05 [ERRIREMRE 335 W[ BARES Plus3
B®REH 2019/1/8 BREBDOORP [ 213 LR EARAc L H 2018/2/26
& |1/24(216h) LV EICALDH Y, 216hLIHTOT — & &5 R & 5.
8.0 [pH]
——pH EhZz e R D -1
75 ﬁi&j@ 6.87
L 12 UE {75 0.00
T 70 T IR E 6.88
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0 50 100 150 200 250 300 350 400 450 500 | PERAME 1, 628
/Ml 1,614
>0 ——Dbo(me/L) i
40 —— RETY 15~216hD X
’go 30 (DO (mg/L) ]
£ » ZERF-E
e 7 0.0
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T—AE5 | 282 AES | 13-350-C05 BAXmE] 2
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